1”7 aluminum angle

EEENEOO

W@D CRAF T @ ggilggzlz([))gylﬁzozo)

3/4” plywood
1/2” plywood
1/4” hardboard
3/4” hardwood

~0.3” plywood or hardwood

3/4” diameter dowel

1-1/2" Square ‘

T

1 5"

Toggle Clamps
(Woodcraft #143933)

2-5/8”

magazine

Thumb nut

WoodRiver GH-225-D

Circle Sanding Jig
Elevations

1/4-20 x 3”
carriage bolt

Support
spacer for
bar



WQDCRAFT' © pineextea |

magazine

1/4-20 thumbscrew
w/ washer

SLIDE
RAIL TOP

4‘ ’7 Route 3/4” wide x 3/8” deep

TAILPIECE
1/4'20. threaded
#4x1/2” screws brass insert
LEG SUPPORT I hardwood
i / LEG CATCH
/ #8x1” flathead screws

#8x1” roundhead screws w. washer
and lockwasher

™ LEG CATCH PAD

wood screws

—— DECK

6.25"

Circle Sanding Jig
Elevations

/4” Hardwood

#6 x 3/4” screws

Locaﬁqns
not critical

1 5|l

— LEG PIVOT BAR /
CLAMP
-~ PAD
- LOCATOR
DOWEL 8-32 setscrews,
brass tipped
(2 places)
#8 x 1-1/4”

0.5"

1/8” dia. x 3/4” pin



